Lost Time Injury Rate (cases with days away from work) I —
Public Works & Assets: SWMS LouieStat
KPI Owner: Keith Hackett Process: Safety
Baseline, Goal, & Benchmark Source Summary Continuous Improvement Summary
Baseline: LTI Rate of 7 in calendar year 2013 Data Source: OSHA Logs |Plan-Do-Check-Act Step 6: Validate that solutions work
Goal: Reduce the LTI rate from 7% in 2013 to 6% |& Payable Time Measurement Method: In a 12 month period, # of OSHA recordables with
by the end of 2014 Goal Source: Enterprise lost work days times 200,000 divided by the total # of hours worked
KPI for safety Why Measure: minimize number & severity of workplace injuries/illness
Benchmark Source: Next Improvement Step: Transfer ownership to divisional leadership to
Benchmark: 1.8% all local gov Nov2013 Bureau Labor Statistics Janalyze JSA's and create improvement action plans.
How Are We Doing?
May2014-Apr2015 May2014-Apr2015
ay pr ay pr Apr2015 Goal Apr2015 Actual
12 Month Avg Goal 12 Month Average
LTI Rate LTI Rate LTI Rate LTI Rate
Lost Time Injury Rate (cases with days away from work) ‘
Good
45
40 \ -
35 i
9 30 :
© 25
£ 2 i
e i
b -~
15 o L
10 L
5 QU7 3370 £J370 £370 LU L1706 ZZ70 £Z170 1867 107 187 117 J7
0 -~
— — — — o~ o~ o~ o~ o~ o~ (32} (92] (92] (92] (92} (92} < < < < < < LN LN
i i - i - i - - - - - — - - - - - — - - - - - —
O O O ©O O O O O O O O O O O O O O © O O O O o o
o o o o o (a\] o (o} o o o o o~ (o] o o o (a\] oo~ (o] (o] o~ o (a\]
> 5 o = £ & > 3 o > ¢ & > 5 o > c S > 35 a = c =
c = (] o © L} o = (] o © i T = (] o © 1) c = ] o © 1)
S w oz - =2 = w oz - =2 3 w oz - =2 3 wo oz = =2
—&—LTI Rate Median Goal Benchmark
May2014-Apr2015 Pareto Analysis
5 100%
4 90%
[)
53 70% IE
.§ X 60% -
@ 50%
£ 2 o
= 40% O
2 o
] 30% 2
91 20%
1 10%
0 0%
Strain Other Sprain (ligament) Stress Contusion/Bruise
(muscle/tendon)
@ Number == Cumulative % ¢ Individual %
- s - S

Monthly Measurement



	LTI SWMS

